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_ei] Sean wanted to find out how many students at the Mountain Academy enjoyed
math. He surveyed the students in his Applications & Interpretations class. What i
the population? What is the sample?

Ppalakeons = all MR shudaks Sowple : AT Shudwnds

) Steve wante to know whether the food he serves in his restaurant is within a safe
range of temperatures. He selects 70 entrees and measures the their temperature
just before he serveg them to his customers. What is the population? What is the
sample?
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For example, the school canteen is considering introducing a new lunch menu and
would like feedback from the students. The school has 250 boys and 300 girle
and so the canteen manager decides to interview 25 boys and 30 girls to find
their opinion of hate new menu. He stand ag at the entrance to the canteen and
interviews only 25 boys and only 30 girle who come into the canteen
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Syshwabie Ex | Consider the list below. We want to take a lin 4 systematic sample.
A,B,C,D,E,FG,H,LJ, K LMN,O,BQ,R,ST
What is the probability that A is selected? What is the probability that F ig
selected?
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